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Geometry: CC 2015
Section 1.4 Exercises

Perimeter and Area in the Coordinate Plane

Exercise 29

a. Use the diagram. - . el AQA(A
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Find the areas of square EF'GH and square EJK L.

Area of EFGH — ‘_fsquare uits 2XE = 2 |

-
Areaof EJKL = || {pquare units yyd =10

b. What happens to the area when the perimeter of square EF'GH is doubled? Explain.

The area is doubledtbec se when the side |9ngth becomes 2s, the area becomes
82 + 82 141 YK

The area is doubled because when the side Ienf‘tﬂi)eoir?‘ebs 2kthe area becomes 2s2.
S g

aAz4v 2

* The area is quadrupled beca‘?e when the side length becomes 2s, the area becomes

@r =i (93)z f2le/ (10)=¢"= 0

The area becomes 8 times greater, because when the side length becomes 2s, the area
becomes 2(2s)* = 8s2.

Exercise 30
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You are growing zucchini plants in your garden. In the figure, the entire garden is rectangle @ RST'. Each unit in the coordinate plane represents 1 foot.

a. Find the area of the garden.

e bl ¥ gy hetk
b. Zucchini plants require 9 square feet around each plant. How many zucchini plants can you plant?

¥
,q,{

c. You decide to use square TUVW to grow lettuce. You can plant four heads of lettuce per square foot. How many of each vegetable can you plant?
- 4 2 4\ wxq =36
You can plant heads of lettuce and \?lucchlnl plants. W 7} q ’ l

o Lone agit L A
Exercise 32 m‘&‘:‘:"ut& ?

a. Without performing any calculations, determine whether the triangle or the rectangle has a greater area. Explain your reasoning.

0,34="%

You can plant ﬁ zucchini plants.

The areas are the same because the base and height are the same.

he rectangle has a greater area, because the base and height are the same, so the
triangle’s area is equal to half of the rectangle’s area.

The triangle has a greater area, because the base and the height are the same, but the third
side of the triangle is longer than the rectangle’s height.

There is not enough information to decide without performing any calculations.

https://www.bigideasmath.com/BIM/teacher/assignment/preview?sho...Geom_Ch1_Sec4&classroomld=593a88bd-450e-4c96-9274-b1e27bc9716b Page 2 of 4

Big Ideas Math::Assignment Preview 4/6/20, 2:58 PM

b. Which one has a greater perimeter? Explain your reasoning.

The triangle has a greater perimeter, because the base and the heights are the same but the
third side of the triangle is longer than the rectangle’s height.

he rectangle has a greater perimeter, because the base and the height are the same but
the third side of the triangle is not as long as the rectangle’s remaining two sides.

The perimeters are the same because the base and height are the same.

There is not enough information to decide without performing any calculations.

Exercise 35
Use the diagram.

a. Find the perimeter and area of the square.

perimeter =\& units '-‘  § l{ s lb
area = \stquare units '-‘ W= “’

b. Graph the quadrilateral formed by connecting the midpoints of square LM NP.
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c. Is the quadrilateral in part (b) a square? Explain your reasoning.
no; The sides are not all the same length.
no; The slopes of consecutive sides are not perpendicular.

yes; The sides are all \/5 units long and the opposites sides are parallel because their
slopes are both 1 or both —1.

es; The sides are all 2\/§ units long and adjacent sides are perpendicular because their
slopes are 1 and —1.

d. Find the perime

er, to the nearest hundredth, and the area of the quadrilateral you hed in part (b).
q you grap part (b)

perimeter =

area = |$\ square units

Exercise 36

Your friend claims that a rectangle with the same perimeter as /A Q RS will also have the same area. Is your friend correct? Explain.

ABRS s & pyth. 4rippe s0 L=6 .
p=drdtsS=n2v A:?_)g-‘:%;(o

WA =
Vo ‘5D =2V
5‘// b A= 5¥5°q X

- =2V
o = \r?_] pzixs=s ¥

~1 yes; Any rectangle with a perimeter of 12 units will have an area of 6 units.

R(=2, -2) @ |52, ~-2),

— yes; If arectangle does not have the same perimeter as AQRS, it will not have the same
area, so your friend's statement is correct by counterexample.

~1 no; Arectangle cannot have a perimeter of 12 units and an area of 6 square units.

_/ho; A1 x 5 rectangle has a perimeter of 12 units and does not have an area of 6 units, so
a counterexample shows that your friend's statement is not correct.
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Exercise 24
Find the area of a pentagon with an apothem of 5 units. Round your answer to the neare
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Geometry: CC 2015
Section 11.3 Exercises

Areas of Polygons

Exercise 3 - . \q ° ;8 qw
Find the area of the kite. k= Aﬁl’ T -z 2 @
z

T
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f—r38——

A= \;\ square units
Exercise &
Find the area of the kite.

dl"w =z
o

Az: 1b* @

¢
i’y M= ‘3"7\?' = \"i
A =ly$fquare units

Exercise 5
Find the area of the rhombus.
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A= |square units 2

Exercise 6 1—_ x‘), + 37; A

Find the area of the rhombus. b
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A= 7” | square units

Exercise 19
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Find the area of the regular polygon. Round your answer to the n
A=a-2 pen mdu':(’
2 2 p=30

A"”M:

o
A= |square units ‘ k = U a ° 35]}"

w¥

0 gs;'f units @/

Adin 30

So, the area of the kite is 9.72 square units.

) The incorrect formula was used for area.
_ There was a calculation error in evaluatlng%(3.6) (5.4).

{ The side lengths were used instead of the diagonals. d

' The values of 3 and 5 should have been used instead of 3.6 and 5.4.

A= 358
4y = M

= §-4Y_%_1p
SR AR

Correct the error.

A=| \b square units
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Exercise 25
‘4 Describe the error in finding the area of the kite. 0 }J bf) - = 7.) LD 5 b‘\ a\m{ q:\“ )
7 | _ \
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Week1 Geo Exit Ticket

Monday, April 6, 2020 3:01 PM

Target 11B Exit Ticket Name: Y

Teacher: M- Burke

Find the area of the parallelogram:

A=bh
/lsm/r_j_u_\?
A= 4, Sm?

25m

Find the area of the triangle:

1 o ft

Find the area of the trapezoid:

k'an

NS

A= uz\ \8
A= 3\ Af= SSK MS /
Find the area of the regular hexagon: hexage = b sdes
[N U
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A'_&L-_é— 535 = [0

hepragon



